g s f
= g |
S 810_1:_
2 I
107
10°F
910‘6_....!....I....I....I....I.... 910\6_"'
B r ] B r
@ [ i 14 [
1___ 1__.. I
i R 1 2 3 09232 1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
— § =TT EIE _I-F—lHEW-I vtgu %
-} El-TT elau owEt
D FI -lowpt
£
e
o>
=2
o

1072

o 010‘_"%IIIIIIIIIIIIIIIIIIIIIIIIIIIII
g F 5 f
x [ d [
- PN i Adadd
%232 1 o0 1 2 3 %32 1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
~ 1
g .
D_)—
=2
D .
107 5%
3 :
0103l mHIRIE R i
217 :
[
-
0932 1 0 1 2 3

TP n (PCA to beamline)



	Contents
	Page 1


